EARAROBEEIERT — 2 N— IBISH —F

20129F9A230 (B) AEIBR#7H

R Xl

REEFI

[($57E] Fikb

EZS

& ‘ [RERSE] — | & (&) 1800M FBE

[A~&£] 1 7 4,000,000  ~ 23 :1,600,000H 33 :1,000,000H 4 3 :600,000H ~ 5 j& :400,000 H

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
o1 = AEEE :53. -3-3- . — REEXR (ER)
1 12 TLITITI [B] "3 56.0 1(5_3)5 382 1810 2 (5;20) ﬁmﬁ'ﬁ'@
LY RYJYZIIZ B:SELAI 2R s
LH I # 3 | AHEEHR 1:54.0 7-7-7-71 | 371.2| — 3 514 | AARER (BR)
2|5|10| F—E=¥Iv b 5.0 3 o Bl
LV EKYTYRIR B LA T 4 —X J—H T — L
8 . i-- - AER— (EH)
slslo|pTUyFLY i [ A R ° S | smER
L:a2=/xLlLy b B2/ IN=T & 1EX
= 4 3 | FHEEZ 1:54.4 5-5-4-2 | 37.8| — 4 470 | BRE (BR)
4815/ 7~ KLk 56.0 7E) (-p) |BEEX
R:F4—TANT N BiNyE-—F> J =% Ty — I
_ ety 54, 54~ 8] - FETES ()
5 gl7—F—-7z71U— it 3 a 1(35/:2)5 5-5-4-5 | 37.8 8 :1528) /J\?«E’Eﬂz
X THANAN BFTIILAZX =e)
S 4 3 | fEAKH— 1:54.9 2-3-4-5 |38.3| — 1 492 | BEBE (FR)
6 6| T>>xIT7+—Jb 54.0 2 1/2) - | @ Fvay 771
R:TwTNEry b BT RRA VYT — J—HrIr—L
: 43 | ARE 1:55.4 12-12-11-8 | 38.4 | — 12 452 | MATTIERH (BR)
7 5 IR/ I-X 56.0 3) (-6) ‘]’gﬁ%—
AT ML BAR/HTTL =E B
g T 4 3 | BEKXME 1:55.8 13-13-12-12| 38.6 | — 15 460 | HREFNIAR (ER)
8 4 7 a—Jaf2—)b 54.0 (2 1/2) (+18) AT
L:FEY RY2Z27 BT 4-TULeX XH mZ
SIS ft 3 | EEBZ 1:55.9 13-13-15-15| 38.4 | — 9 412 | ELARRE (ER)
9 3 TJT7RVA A51.0 (3/4) (-16) #) EF“FJEW*%
RixLTHAXANAN BEZ2 A2 MSL— TDAS
S : # 3 | E=RH 1:56.0 16-16-12-14| 38.8 | — 13 | 464 |DNEEERZ (ER)
10[1]1|/=7715— 5.0 (7€) (+14) | FED
LI TATIA LR BIXFNINRZ— =iiEe
W A 4 3 | REBCS 1:56.0 11-8-12-12 | 38.8 | — 6 450 | BBE—H (ER)
] 7|#77L—¢ 6.0 7€) () | BAEIE
RiFATAT v — BaAIHLRY Yo H—RZN=T 229K
oS i 3 | BRR 1:56.3 7-8-8-8 [39.4| — 10 | 418 |RMEBFA (FF)
12| 7|14 N7V —F 5.0 1 5/ Lo |EBESES
R:TF4=TA2N7 8 BT TN Y E—Z2T R EE
P = s t> 3| KLEE 1:56.7 9-8-8-8 [39.7| — 16 | 424 | BEEM (BXR)
13)1]2| €/ 71VF R 2 1/2) (o | KBAET
LEL/INY R B:vvq/4=rET— Ll ki
8 80 # 3 | FOREE 1:57.2 13-13-16-16{ 39.2 | — 11 574 | AHEK (ER)
14/ 7113| N & A+ TANZX b 56.0 (3) (3) | =EBC
L RKYIYZXI X BN RNTIVNL J—HrTr—LA
# 3 | EHF 1:57.3 9-8-8-11 |40.4| — | 14 | 428 |BERALE ()
15/ 8116 Sy 54.0 (3/4) -16) SIS EE
R ZAZHw R BAYIZXTFILR Elake
= = # 3 | Eo#HN 1:57.9 2-2-2-2 |45 — 7 502 | MEER (RX)
EHH TTA4—E> 56.0 (3 1/2) 42) /:} =
R:TIAT7LX24 L B:2=/Kk040 H Ry —iE
@ 71 L
) 49.9-37.2
NA>ZA L | 12.7-11.0-13.7-13.3-12.9-12.7-12.5-12.2-12.5
® I —F—@EBIERL
13—F+— |9(6,11)12(8,15) (10,14) (2,16)7,5-(3,4,13) 1
2= = 9,11(6,12) (8,15)10(2,7,14,16)5-(3,4,13)1
Gol=5r= (x¥9,11)12(6,8,15)10(2,14,16)5-(1,7,4)3-13
40—+ — 9(11,12,15) (6,8)10(2,5,14)16(7,4)1,3-13
[ N3
B O 12 460M 714K 10-12 440 e E 5-6 590M JEHE 9-10-12 1,840
8 B 12 1609 9-12 390M B = 10-12 1,100/ B 12-10-9 10,380M
10 1704 9-10 490M B H 12-10 2,330
9 1804

ABICOVWTRDTEEERROODE. TR LIV,




